5168 HRFHED A

Bt B 5065045268 B 7R
JE L K 2 OUT | IN | GR | HDCP | NET -5 B JE iz K 4 OUT | IN | GR | HDCP | NET -5 BE&
B R EA 44 | 46 | 90 | 19.2 |70.8 5000P-E 31 | ki H—EB 43 | 45 | 88 |13.2 |74.8 1500P
| hE K 42 | 41 183 [12.0 |71.0 4000P-E 32 |tE HE 45 | 43 | 88 |13.2 |74.8 1500P
3 || EF 44 | 45|89 16.8 |72.2 |ZFE'VTH  [3500P-E 33 |/ER BE 49 | 45 | 94 |19.2 |74.8 1500P
4 |\KiEE %HE 45 | 44 | 89 |16.8 |72.2 2000P 3 |EHE KD 48 | 52 100 | 25.2 |74.8 1500P
5 bR EH 42 140 | 82| 9.6 |72.4 2000P 3B | BB 49 | 51 {100 | 25.2 | 74.8 BB
6 |NE EE 42 | 45 | 87 |14.4 |72.6 2000P 36 2B BE 53 | 47 [100 | 25.2 | 74.8 1500P
7 |hm E:a 44 | 43 | 87 |14.4 |72.6 E—IL 37 |tE 3 44 | 43 | 87 |12.0 |75.0 1500P
8 |mE HE 51| 60 (111 |38.4 |72.6 2000P 38 |RE Rik 49 | 50 | 99 |24.0 |75.0 1500P
9 |mE E% 45 | 47 |92 |19.2 |72.8 2000P 39 |@EE B 41 139 | 80 | 4.8 |75.2 |A'ARG 5500P
10 |fE% #K 43 | 42 | 85 |12.0 |73.0 |ZTE'V14H |5000P -E || 40 @R %— 46 | 46 | 92 | 16.8 | 75.2 E—JL
1 EE F= 43 | 41 |84 [10.8 |73.2 1500P N EE RA 47 | 51 | 98 |22.8 |75.2 1500P
12 |EiE EHR 47 | 43 | 90 | 16.8 |73.2 1500P 42 |G 39 | 46 | 85 | 9.6 |75.4 1500P
13|’ B 50 | 40 | 90 | 16.8 |73.2 1500P 3 |§iE EE 42 | 43 |85 | 9.6 |75.4 1500P
14 |5A | 47 | 48 | 95 |21.6 |73.4 1500P 44 |eE S 46 | 45 | 91 |15.6 |75.4 1500P
15 || EE 41 | 41 [ 82| 8.4 |73.6 Pedin) 45 |fil [Edh 43 | 47 | 90 | 14.4 |75.6 b3
16 [ILEE it 51 | 43 | 94 [20.4 [73.6 1500P 46 |BH EfT 42 | 41 83| 7.2 |75.8 1500P
17 |mmE B 47 | 59 |106 | 32.4 |73.6 1500P 47 |l ez 43 | 46 | 89 |13.2 |75.8 1500P
18 Btz F= 43 138 | 81| 7.2 |73.8 1500P 48 | BE 51 | 44 | 95 |19.2 |75.8 1500P
19 |#it #nfg 43 | 44 | 87 |13.2 |73.8 1500P 49 |HB @ 48 | 53 |101 |25.2 |75.8 |=ZFEY5H  |2000P
20 |Emil AR 49 | 49 | 98 |24.0 |74.0 E—I 50 |EE X— 39 | 43 |82 | 6.0 |76.0 |=FE’V17H |[500P-F
21 |HZE BE 50 | 54 [104 {30.0 |74.0 1500P 51 |R## 45 | 49 | 94 | 18.0 |76.0 1500P
22 |#EK B 39 | 46 | 85 [ 10.8 |74.2 1500P 52 |k BAE 46 | 48 | 94 | 18.0 |76.0 1500P
23 |HE EE 48 | 43 | 91 |16.8 |74.2 1500P 53 [T B— 53 | 47 100 | 24.0 |76.0 1500P
24 |NE = 48 136 | 84 | 9.6 |74.4 1500P 54 L HB 47 | 46 | 93 | 16.8 |76.2 1500P
25 |M@A EE 47 | 49 | 96 |21.6 |74.4 e 55 |EAAT %L 51 | 48 | 99 |22.8 |76.2 b3
26 IR s 52 | 50 [102 [27.6 |74.4 |4 BAE 3000P-E 56 | ki A 56 | 49 |105 | 28.8 |76.2 |=FE’V14H |2000P
21 | AR EE 43 1 40 | 83 | 8.4 |74.6 1500P YN 46 | 46 | 92 | 15.6 |76.4 1500P
28 | ik 44 | 51 | 95 |20.4 |74.6 1500P 58 |JI4E  #E 48 | 44 | 92 |15.6 |76.4 1500P
29 |HE HE 47 | 48 | 95 |20.4 |74.6 1500P 59 |@7x BE 49 | 43 | 92 |15.6 |76.4 1500P
30 |FH LT 53 | 48 101 [26.4 |74.6 E—L 60 @ % 46 | 52 | 98 |21.6 |76.4 E—IL
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